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the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.
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booklet will be given to you. In the first 5 minutes,
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(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
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be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions given inside carefully.

One page is attached for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
identity, you will render yourself liable to
disqualification.

You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION - 1
Qug -1

Note : Answer the five questions from the para given below. Each answer
should not exceed 30 words. Each question carries five marks.
(5x5=25 marks)
e : A fe2 T3 aREsE % SR W Ui A o S SIS | Heeh Ye ol W
(30) vreai  31ferek & B eV | YAF U Ui ki BT R
(5x5=25 3ieh)

The central theme that inspires the Wealth of Nations is the workings of “the invisible
hand; it is not to the benevolence of the baker but to his self-interest that we owe our bread.
Smith had caught sight of the pregnant consideration that under certain social arrangements,
which we would nowadays describe as workable competition, private interests are indeed
harmonised with social interests. Without collective regulation or single design, a market
economy neverthless conforms to orderly rules of behaviour. Each individual, being one
among many, can exert only a negligible influence upon the total market situation. In effect,
he takes prices as given and is free only to vary the quantity bought and sold at given prices,
driven by the motive of maximising his own gain. Yet the sum of all these separate actions
determines prices; each person, viewed separately, is ruled by prices; and yet prices themselves
are governed by the sum total of all individual reactions. The “invisible hand” of the market

in this way assures a social result that is independent of individual will and intention.

5 7@ foa=m 3 e 3% 9 S HRIYoel %1 YRd fohan 98 2w a1 1 faar on | sad
SR Hiferhl, T8 g o fiardt © 3 fea &1 o1 foheg st F1oft Taned o1 oy =t gfie g
HrTSTeh SHeaeensti | Helg ol dedi i AR @i 5= 31 et gfaifiar et | fsit fed s
T gt fedi & 91 999 o €9 H S B ¢ | Wffesh AT A U fesed & for, amm
TefeTaEe SRR o HHeG (I h Heq Bl ¢ | Teh HAfK THIS o 3Teh AT § 9 Th e &
HROT ISR 1 qoi Fearfd R 0 g St Hehel €1 SR H, ST TSR A &l © S9! WHhR
ek AfR I oSt W A | TieT 3iR 9=a € 31 € 98 R Wehdl © 1R 36 H 1 i | ST
ILYT HEAH YATHI YT AT BT € | &% Aford, Toas ©Y W oS hiad W JTe T STel Tehdl Tk
St we safaa wt wfafear g/ e Swmd Mived St €S9 39e SAfe W) Tedl 81 39 YhR
e B9 UH1 HIfSTeh 9ROTH S H el 811 ¢ il i3 U TRl i o1 SIR 3¢9 ¥ ¥as erai ¢ |
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1.  Why is the working of “the invisible hand” the central theme of the Wealth of Nations ?
T 3% 490 H TET G h HEYUICH HemmH (=) faam =i s €2

2. What is the significance of self interest in the Wealth of Nations ?

ol 3 A9 | Tafed o1 91 He © 2
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3.  How is the private interest of the individual harmonised with social interest ?

fort a1 fsit fea wrforer fea @ wfea 2o 8 2172

4.  Why does a market economy conform to orderly rules of behaviour without collective
regulation or single design ?

qrfesh f7om = tehat fesiea & o IR steferasen =reeR & ol @t fome o= et €2
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5.  How could Adam Smith create the presumption that decentralised atomistic competition
produces in some sense maximum satifaction ?

weH fme &t I gron T for fashiera quieasteres faaifirar sifiehas Sam St €72

SECTION - II
Qus —1II
Note : This part has fifteen (15) definitional questions of (5) marks each to be
answered in upto (30) words. (5x15=75 marks)
e : 39 Ee H dgg o (15) T § | WoE T % 91 (5) 3H T 1 TAE B
IW (30) w=al § AT (5x15=75 3ieh)
6.  Define homogenity of a production function and relate it to returns to scale.

IS h1d ! TSI IR SIS qe s9eR 7199 & Yfdwhel 9 Gy Jdsy |
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7.  What is Adding up Problem ?
UL 1 =@ T 1 qed © 2

8.  What is Life Cycle Hypothesis ?
STre-=Ish HTaeheq T | 1 s § 2
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9.  What is Money Multiplier ?
HET-T[UTh R E ?

10. What is Hicks-neutral technical progress ?
feoR- 3T qeheiieh! Tt | R T 2
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11. Define Marxian simple reproduction scheme and relate it to the problem of
disproportionality.

TR T T ICATEH Thi bl IR ST IR ST SATIAEA i THE T Haie Farsy |

12. Explain Wagner’s law of increasing state activity.

TR &t gfg-feafa-foran o Fam &t =aren #ifee |
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13. Define optimum currency area.

tfereRan 9T &1 ol TR it |

14. Distinguish between Repo rate and Reverse Repo rate.

1 2 g1 ad W @ o Ad S|
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15. Distinguish between labour productivity, capital productivity and total factor
productivity.

IH TGN, YT SATGHhAT T Fel IURHI Rl SATGHAT H <R Sy |

16. Define total fertility rate.
FA YT ST ohl R e |
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17. Ditinguish between absolute poverty and relative poverty.

frer fefar qen g fAdAar § STaR JaEu |

18. Why is there a need for Second Green Revolution ?

feda efta wifa =) sTergaessar =i €2
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19. A discriminating monopolist be forcing two markets with demand functions
x;=16-0.2 p; and x,=9-0.05 p,. The total cost function of the monopolist
C (x) =20+ 2x where x=x; +x,. Find the prices changed in each market for maximum
profit.
T THITERR AT 3 BRI & SRl 9 Salel STerdl © x; =16 — 0.2 p; T4 x,=9—0.05 p,.
THITHER & FA ARM 8 C (x) =20 + 2x el x =1, +x,. X IO ¥ 3Tfeehes @4 & foag
1 HHd S| SW S

20. Define the standard error of the estimate of Y for given X from the line of regression of
Y on X. What does it represent ?

X Y <k 3TERRT ¥@ W U T X o faw Y o STIHM i " Jfe ol IR SifSw | o =1
frefua sear &2
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SECTION - III
Lug —II1

Note : This part has five short-essay type questions of (12) marks each to be

21.

22.

23.

24.

answered in upto (200) words. The candidate may select one elective

and answer all five (5) questions.
(12x5=60 marks)

@ WS T U (5) 7Y e 799 €1 Uds U W (12) ik 1 o
9 T ST T S Wl vsal B S | utenedt fhelt Wk foeheq o1 = o
3Gk Ul G o S S |
(12x5=60 37h)

Elective - I

faerea —1

Explain the term Heteroscedasticity in regression models and give its implications. Briefly
describe the WHITE’s Test.

i A # fawafamiar (SAfaeifefad) s i <amen Hifsu qen & wrEifard
AR | RTeS ST (WHITE's Test) 1 Harq H 0 FIfSQ |

For the two variable population regression function Y;= 3+, X;+ U, where Y; is
dependent variable, X; is the independent variable and U, is the error term, what are
the least squares assumptions. Estimate the parameters §; and B, by OLS. Show that
these estimators are unbiased.

< = S S 9 Y, = B, + B, X, + U, e Y, SfEd =R §, X, $FHd =R 8 a0 U,
Ffe 9 T, =FdH ol @ B 2 OLS BN B, T4 B, % STATHI o STheiT whifoTT |
FaT & 3 sTehere froag €1

What are Binary Choice Models ? Derive the estimates of parameters of a Logit Model
by using the method of maximum likelihood.

TR AeT Hiee 1 7 ATeshad FEeHT i Ugfa (Ao aeswicgs 9sfa) &1 wam
L U IfSIe AlSel o M o STeher o Jfod s |

Explain Multicollinearity in regression models and consequences. Define Farrar and
Glauber test for detecting it.

T Hiee § SgHetal wt AT HifaT IR 3TH TROMH! ! Jaist | S9! Tl o= &
fore TR 3R Teller T o1 mifRkenfia wifsre |
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25.

21.

22.

23.

24.

25.

What is a Non-Stationary Time Series ? Give methods of detecting it graphically. Also
explain the Unit Root Test.

FM-TIAR 2EH S (Non-Stationary Time Series) 31§ ? S9! T §RIT SThe B
fafy §fSw1 gfte € S= (Unit Root Test) &1 AR whifeig ?

OR / 1@

Elective - 11
fasmea—11

Explain the three distinct models of equilibrium of the firm and industry under
monopolistic competition developed by Chamberlin.

wreRfe R foewfad TR gfaefiar § wd iR ST & Gged & o fafvs ateat &t
AT HITT |

Define Game Theory and state the assumptions underlying it. What do you understand
by two-persons zero-sum game ?

T A (Game Theory) I qIReIfd Hif 3R 3wkt fafed emonsti W g efaw |
- STRI-H-T § 31 9 9 © 2

Explain Hicks” Theory of trade cycle.
T&eRd o =ATIR =ik o THgT= o ST Shifsie |

Explain endogeneous growth theory.

Saviia foema faga &1 =aren S|

Show how equilibrium interest rate and equilibrium level of income are jointly determined
in the Keynesian system.

7 ! LT | Hfeld =TS X 9T 3T 1 Fefferd TR Sl Tk @Y i Feifa forg s €2
ERIE

OR / 3traT

J—0108 15 P.T.O.



21.

22.

23.

24.

25.

21.

22.

Elective - III
fasrea—1I11

Examine the operation of the Bretton Woods System from 1947 - 71. Why did it
collapse ?

1947 § 71 T S22 ISH HAEN % Y i WA= hifone, T8 fahar i g8 2

World has more globalized in terms of international trade and capital flows since 1980.
Discuss.

1980 ¥ fava # SiaRigha =amIR 3R Uit & YA i TfHeh YHSeho & Wl | ==l Hifs |

What are the major challenges confronting international trading system ?

STRIT MIR LT o HH G RG] 1 & 2

How did euro currency market develop ? Explain the nature and operation of euro
currency market.

FU-h{H TSR hd Taenfad gem? JU-Hidl o @&y a1 fraraad & o) § sasu|

What is hedging ? Why does hedging not usually take place in the spot market ?
S e €27 e oStk & wrr: fStT il el el 2

OR / 1%t

Elective - IV
fasmca—1v

Trace the productivity trends in Indian agriculture, clearly marking the different phases.

WRATT T | IRl HIfd & I H I8 adl 3Heh faf 9= =0l i T it |

Examine the role of the policy of minimum support price (s) in encouraging the prevalent
cropping pattern in different regions.

fafm &5 o yafad woa & o & ST § <Aan i wa Aifq s fEe S St
Hife |
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23.

24.

25.

21.

22.

23.

24.

25.

Enumerate, and describe in brief, the various criteria that you would suggest for fixation
of a ‘minimum wage’ for agricultural labour.

Fft-gfgw & ‘=Fag I’ w1 i w0 F fau e o wdifedi &1 gema < STt
GRATOT ST TS F&Y H 3T 9UH hifod |

How far the co-operative credit institutions have performed their envisaged role in
Indian agriculture ?

TR Ft H Hehrl B0 e el e ST Heeqot fient e @ €2

Comment on the divergence of views between the developing and the developed
countries on the issue of subsidies to agricultural sector.

Ff & & § 27feleh Herar o7 & aR H foaskfad <w iR fasmmaeia < =t fafve aronsti &
R H feuquft wifsT

OR / 31an

Elective - V
fasmca—Vv

Describe the performance of Micro and Small Enterprises since the onset of the process
of globalization in India.

IRA H JHSTIRI T Fihal 16 ¥ YRY §E § 9 9 HISeh! a1 oY STHI o Al 90
IS |

Enlist the major banking sector reforms that have been undertaken in India since 1991.

1991 § 9RA Sl | U T WeNEHI 1 Yelog Hifg |

Trace the trends in FDI flows in India since 1980 and bring out its implications for
inter-state disparities.

1980 § WRd H TH.E1.37E. Ya18 i Y hl W@ifehd hifSIC qen Aaiia staamadet o ¢
HH & U % FEifafd T T Sifert |

What was the rationale for adopting the Fiscal Reforms and Budget Management Act
(FRBMA) in India ? How far has it helped the process of fiscal consolidation ?

URd H fraerd fTmd 3TR oeie §AHe Tee (THh 3R o TH ) ol TR hid & U 1 doh
&7 USTHINTT Yool Uishal | SHY hel deh Ferar el 2

What is meant by ‘Global Warming’ ? How far the prevalent paradigm of development
is responsible for the same ?

‘Teiteret e’ | R ared § 2 forerE o y=ifeld Ui SHeR foTT el e SReRl § 2
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SECTION - IV

Qus -1V
Note : This part has one question of (40) marks to be answered in upto 1000 words.
(40x1=40 marks)
e TH e § T T el (40) Sl 1 &1 FiHe1 ST e T ESIR (1000)

e R RS

(40x1=40 37R)

26. Comment on the nature, extent and trend of inter-state disparities in independent India.

How the new economic policy regime has affected the same ?

WA YRA | STae STHHMdIe o @&, 1 1@ Ygfd & aR # feuqoft wifsm

7 s A TR ¥ SR S g o 37 25, 15)
OR / 3AYar

What is the back drop and essence of the ‘Convergence debate” ?

Do we have uncontrovertible evidence for espousing a particular view ?

Outline the various attempts that have been made to reconcile the various lines.
‘iR foame’ & geyfh (9% TU) qe1 W 9 § 2
1 AR 9 foRelt #a & wHeA & fo stfoeereTs yHmT 39 © 2

fafv= fageti # ams= wenfaa s o fore fore e fafve gordi 61 YEifera wifs |
(15, 10, 15)
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